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# include <stdio.h>
int main()
{
int a,b,c, s,av;
printf("\n Enter three no. ");
scanf("%d %d %d",&a, &b, &c);
s=(a+b+c);
av=s/3;
printf("\n The Sum of three no. is %d",s);
printf("\n The Average of three no. is %d",av);
return O;

}

YA AT

Enter threeno 56 7

The Sum of three no is 18
The Average of three no is 6

THRIT-
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#include <stdio.h>

int main()

{

int a,b;

float area;

printf ("\n Enter the value of a ");
scanf ("%d", &a);

printf ("\n Enter the value of b ");
scanf ("%d",&b);



area=0.5*(a*b);
printf ("\n The area is %.2f",area);
return 0;

}

AN A
Enter the valueofa s

Enter the value of b 6
The area is 15.00

TAIN-9
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#include <stdio.h>

int main()

{

int a,b,c;

float s,area;

printf("\n Enter three numbers ");
scanf("%d %d %d", &a, &b, &c);
s=(a+b+c)/2;
area=sqrt(s*(s-a)*(s-b)*(s-c));
printf("\n the area is %.2f",area);
return 0;

}

YA AP
Enter three numbers 56 7
The area is 14.70

THI-8
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#include <stdio.h>

int main()

{

intr;

float pi, area;

printf("\n Enter the value of r );
scanf("%d",&r);



pi=3.1416;

area = pi*(r*r);

printf("\n The area is %.2f",area);
return O;

}

T TP
Enter the value of r 5
The area is 78.54

T2RIN-¢
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#include <stdio.h>

int main()

{

int fh;

float cl;

printf ("\n Enter the value of fh ");

scanf ("%d", &fh);

cl = (fh-32)/1.8;

printf ("\n The converted Celsius temperature %.2f", cl);
return O;

}

T AP
Enter the value of fh 50
The converted Celsius temperature 10.00

TAR-Y
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#include<stdio.h>

int main()

{

int cl;

float fh;

printf ("\n Enter the value of cl ");

scanf ("%d", &cl);

fh = (c1*1.8)+32;



printf ("\n The converted Fahrenheit Temperature %.2f",fh);
return O;

}

T T
Enter the value of cl 10
The converted Fahrenheit temperature 50.00

TR
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#include<stdio.h>
int main()
{
int n,rem;
printf("\n Enter the value of n ");
scanf("%d", &n);
rem=n % 2;
if (rem==0)
{

printf("\n%d is a Even Number",n);

}

else

{
printf("\n %d is a 0Odd Number",n);

}

return 0;

iww:

Enter the valueof n 5

5 is a Odd Number

THRN-b
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#include<stdio.h>

int main()

{

int a,b,c;

printf("\n Enter three numbers ");
scanf("%d %d %d",&a, &b, &c);



if ((a>b) && (a>c))
{
printf("\n The Largest no is %d",a);

bs
else if ((b>a) && (b>c))

{
printf("\n The Largest no is %d",b);

}

else

{
printf("\n The Largest no is %d",c);

}

return O;

}

T TP
Enter three numbers 5 6 7
The Largest no is 7
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#include<stdio.h>
int main()
{
int a,b,c;
printf("\n Enter three numbers ");
scanf("%d %d %d",&a, &b, &c);
if ((a<b) && (a<c))
{
printf("\n The Smallest no is %d",a);

bs
else if ((b<a) && (b<))

{
printf("\n The Smallest no is %d",b);

}

else

{

printf("\n The Smallest no is %d",c);



}

return O;

}

T T
Enter three numbers 56 7
The Smallest no is 5

TH|N-30
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#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+1)
{
S=S+C;
bs
printf("\n The Sum of the Series is %d ",s);
return 0O;

}

YT AP
Enter the valueofn 5
The Sum of the Series is 15

T3
2+4+6+......+ n Fifdtea @ fafy sa@ v for --- loop 3R%@ 363 7 orEw
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#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");



scanf("%d", &n);
s=0;
for (c=2;c<=n;c=c+2)
{
S=s+C;
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

AN A
Enter the valueofn 5
The Sum of the Series is 6

TARN-]
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#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+2)
{
S=S+C;
bs
printf("\n The Sum of the Series is %d ",s);
return 0O;

}

YA T
Enter the valueof n 5
The Sum of the Series is 9

TAN-9
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#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+(c*c);
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

T TP
Enter the valueofn 5
The Sum of the Series is 55

THHIN->8
12+3%2+52......+ n? Bifitem @rtes g sam e for --- loop w5 3¢ Bt o
GG TR @ |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+2)
{
s=s+(c*c);
}
printf("\n The Sum of the Series is %d ",s);
return O;

}



AT AT
Enter the valueofn 5
The Sum of the Series is 35

TAE-3¢
22+4%+62......+ n? Bifftem aren g sam e for --- loop =™ 3¢ B erwm
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#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=2;c<=n;c=c+2)
{
s=s+(c*c);
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

AN AP
Enter the valueofn 5
The Sum of the Series is 20

TART-2Y
1+243+...... + n fftem @res Rt s e do---while loop s s &
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#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=1;



do
{
S=s+C;
c=c+1;
Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
return 0;

}

T T
Enter the valueofn 5
The Sum of the Series is 15

TARIT-39
2+4+6+...... + n Ffacem @ [t $27 w5 do---while loop IRz @ &
S G0 TR @Y |
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
do
{
$S=s+C;
c=c+2;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
return O;

}

10



AT AT
Enter the valueofn 5
The Sum of the Series is 6

TART-Sb
1+3+5+...... + n Fifacem @res R sas s do---while loop Is2= 3@ &
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#include<stdio.h>
#include<conio.h>
int int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{

S=s+C;

c=c+2;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
return 0;

}

YT AP
Enter the valueofn 5
The Sum of the Series is 9

TRIN-3

124224+ 3%+......+ n? fficem qres fida saw w5 do---while loop 3= @
1 oy «= ot ¢

#include<stdio.h>

int main()

{

11



int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+(c*c);
c=c+1;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
return 0;

b
T TP

Enter the valueofn 5
The Sum of the Series is 55

TARN-0
12+3%+5%,......+ n? fifftem aree fifa s e do---while loop 37a@ w6
o o @ teiT @1
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+(c*c);
c=c+2;

Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
return O;

12



}

T T
Enter the valueofn 5
The Sum of the Series is 35

THT-d
22+42+62......+ n? Bifttem ares ffg s e do---while loop Tvx@
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#include<stdio.h>
int int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
do
{
s=s+(c*c);
c=c+2;
Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
return 0;

}

YT AP
Enter the valueofn 5
The Sum of the Series is 20

THRIN-R
1+2+3+......+ n Fiftem @mes fft sam e while loop 332w s & oRr
(B TR T4 |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");

13



scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
$=s+C;
c=c+1];
}
printf("\n The Sum of the Series is %d ",s);
return 0;

bs

T T

Enter the valueofn 5

The Sum of the Series is 15

HRN-9
2+4+6+...... + n Fifdtes @ [ sa@ w5 while loop 5=:zw 36 B o
GG TR T |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
while(c<=n)
{
s=s+C;
c=c+2;
>
printf("\n The Sum of the Series is %d ",s);
return O;

}

YA AP
Enter the valueof n 5
The Sum of the Series is 6

14
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#include<stdio.h>
int int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
S=s+C;
c=c+2;
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

YA AR
Enter the valueofn 5
The Sum of the Series is 9

RT-3¢
124224 3%+......+ n? fificem @riws Rdg sam v while loop w3zw v
S G0 TR L |
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=1;

while(c<=n)

{

15



s=s+(c*c);
c=c+1];

¥
printf("\n The Sum of the Series is %d ",s);

return 0;

}

T TP
Enter the valueofn 5
The Sum of the Series is 55

TARN-Y

12+ 3%+ 52,......4+ n? ffftem @ fidfa s w0 while loop 3w w6 & e
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#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
s=s+(c*c);
c=c+2;
}
printf("\n The Sum of the Series is %d ",s);
return 0;

}

YA T
Enter the valueof n 5
The Sum of the Series is 35

TARN-:4
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#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
while(c<=n)
{
s=s+(c*c);
c=c+2;
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

TN TP
Enter the valueofn 5
The Sum of the Series is 20

TARN-Y
14243 +......+ n Fifites e Jfg s e if --- goto 3=z vt & oy
@G TARIT T |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
level:
S=s+C;
c=c+1];
if (c<=n) goto level;
17



printf("\n The Sum of the Series is %d ",s);
return O;

%W:
Enter the valueof n 5
The Sum of the Series is 15
THRIN-1%
2+4+6+......+ n Fifates @res oy e o if --- goto 3317 36 ol
GG TR T4 |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
level:
sS=s+C;
c=Cc+2;
if (c<=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return O;

}

AT AT
Enter the valueofn 5
The Sum of the Series is 6

ARN-90
1+3+5+...... + n Ffacem @res Rfg sar e if --- goto 37xw wea fr e
@5 TR @ |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");

scanf("%d", &n);
18



s=0;
c=1;
level:
S=s+C;
C=C+2;
if (c<=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return O;

}

YA T
Enter the valueofn 5
The Sum of the Series is 9

THRT-9d

«f5 = sy Factorial 47 3= oy B o @2 (b e @19 |
#include<stdio.h>

int main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=1;

for (c=1;c<=n;c=c+1)

{

s=s*¢;

bs

printf("\n The Factorial is %d", s);
return 0;

}

T T
Enter the valueofn 5
The The Factorialis 120
THRAN-9
«f5 74 k4@ Factorial R 2 e while loop 3727 3 5 o G
AR 7Y |
#include<stdio.h>



int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
c=1;
while(c<=n)
{
s=s*c;
c=c+1]1;
}
printf("\n The Factorial is %d ",s);
return 0;

}

YA AT
Enter the valueofn 5

The Factorial is 120
ART-99

=5 74 45w Factorial 4w sa@ w7 do---while loop 3=z wea 5t e

G0 TR @Y |

#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
c=1;
do
{

s=s*c;

c=c+1;

Ywhile(c<=n);
printf("\n The Factorial is %d ",s);
return O;

20



s

AT TP

Enter the valueofn 5
The Factorial is 120
ERN-98

«f5 = 74y Factorial Fdw sam w7 if --- goto I5=7 363 &1 o «afs e

|

#include<stdio.h>

int main()

{

int ¢, n,s;

printf("\n Enter the value of n ");

scanf("%d", &n);

s=1;

c=1,;

level:
S=s*C;
c=c+1];

if (c<=n) goto level;

printf("\n The Factorial is %d ",s);

return O;

bs
YT AP

Enter the valueofn 5
The Factorial is 120

TARS-9¢
@G = Leap Year &t ot At s oy 1 oraiw «of6 teimis ¢
#include<stdio.h>
int main()
{
inty;
printf("\n Enter a year ");
scanf("%d", &y);
if((y%400==0) | | ((y%04==0)&&(y%100!=0)))
{
printf("\n %d is a leap year",y);

21



}

else

{
h

return O;

}

T TP
Enter a year 2010
2010 is not leap year

printf("\n %d is not leap year ",y);

THRIN-0Y
7o AT 4. ¢, (GCD) el 71 &y &5 o «=fb tamiw @72 |
#include<stdio.h>
int main()
{
intL, S, R;
printf("\n Enter two numbers ");
scanf("%d %d",&L,&S);
while(L%S!=0)
{
R=L%S;
L=S;
S=R;
>
printf("\n The GCD of Two numbers %d",S);
return 0;

}

YA AP
Enter two numbers 75 50
The GCD of two nhumbers 25

TA/™IN-94

7o A w37, ®. (LCM) el w1 & £ o = fo w72 |
#include<stdio.h>

int main()

22



int a, b, x;
printf("\nEnter the first integer number:");
scanf("%d", &a);
printf("\nEnter the second integer number:");
scanf("%d", &b);
if(a>b)
{
X=a;
¥
else
{
x=b;
h
level:
If((x%a==0)&&(x%b==0))
{
printf("LCM is %d \n", x);
¥
else
{
xX=x+1;
goto level;

h

return O;

b
TN T

Enter the first integer number: 16

Enter the second integer number: 4
LCMis: 16

HN-o

1 e 5 o6 % 919 & «io Ty &7 |
#include<stdio.h>

int main()

int int main()

23



{

intc;

for (c=1;c<=5;c=c+1)
{

printf("\n %d",c);

}

return 0;

}

T T

uphWNER

TR0
10, 20, 30......... ,100 *%% &% 91 & if.....goto 7T FF GSb TARIT F |
#include<stdio.h>
int main()
{
int c;
c=10;
level:
printf("\n %d",c);
c=c+10;
if (c<=100) goto level;
return 0;

}

YA FEAIPeT:
10
20
30
40
50

24



60
70
80
90
100
TA™N-80
90+80+70......+ n &fem @ees g saa v if.....
GG TR T |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=90;
level:
S=s+C;
c=c-10;
if (c>=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return O;

>
YT AP

Enter the valueof n 10
The Sum of the Series is 450

TART-85

goto 3= 33 1 o

90%+80%+70>......+ n? ffites @res g s & if.....goto Jwm @ &

ORI GG TR T |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;

25



c=90;
level:
s=s+(c*c);
c=c-10;
if (c>=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return 0;

b
T TP

Enter the valueof n 10
The Sum of the Series is 28500

THEIN-83
ICT == 16 I 46 3417 &y q5fB TS +19 |
#include<stdio.h>
int main()
{
intc;
for (c=1;c<=5;c=c+1)
{
printf("\n ICT");
}

return O;

}

TN T
ICT
ICT
ICT
ICT
ICT

TART-89
Postfix Increment Operator 3325 3@ T ey

#include<stdio.h>
int main()

{

26



int a=3,b;

b=a++;

printf("\n The result of Postfix Increment Operator %d",b);
return O;

}

T TP
The result of Postfix Increment Operator 3

TART-88
Prefix Increment Operator J32% 33 T fdfa
#include<stdio.h>
int main()
{
int a=3,b;
b=++a;
printf("\n The result of Prefix Increment Operator %d",b);
return O;

bs
YA AP

The result of Prefix Increment Operator 4
TAR-8¢
Postfix Decrement Operator 3323 3 T e
#include<stdio.h>
int int main()
{
inta=3,b;
b=a--;
printf("\n The result of Postfix Decrement operator %d",b);
return 0;

}

AT AP
The result of Postfix Decrement Operator 3

TARN-8Y
#include<stdio.h>
int main()

27



printf("\n The result of prefix Decrement operator %d",b);
return 0;

}

T T
The result of Prefix Decrement Operator 2

THRIN-89
21+22423,....+ 2" Biffvem criee fadfa s o B o @b e @
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+pow(2,c);
}
printf("\n The Sum of the Series is %d",s);
return 0;

}

AN AP
Enter the valueofn 5
The Sum of the Series is 62

TA=-8b
204214224 23,.....+ 2N Fifacem e fRdfa v wwr B e @l e T
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");

28



scanf("%d",&n);

s=0;

for (c=0;c<=n;c=c+1)

{

s=s+pow(2,c);

bs

printf("\n The Sum of the Series is %d",s);
return O;

}

AN A
Enter the valueofn 5
The Sum of the Series is 63

THRIN-85
1+3+9+27+...... + N Fifates i i T2 o & < @36 temiw @2
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c*3)
{
sS=s+C;
}
printf("\n The Sum of the Series is %d",s);
return 0;

}

AN AP
Enter the value of n 27
The Sum of the Series is 40

QHN-¢o
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1x2+2x3+3x4......+ Nx(N+1) Fftem @res ft sa o B o gt
TR =¥ |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of N: ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+c*(c+1);
bs
printf("\n The Sum of the Series is %d",s);
return 0;

}

T TP
Enter the valueofn 5
The Sum of the Series is 70
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